AIGNEP

DISTRIBUTION SYSTEM FOR COMPRESSED AIR, INERT GASES AND VACUUM




(JAIGNEP

Infinity Series

COLORS M B Y

90000 - 2.5 m (8 ft)

GR  GREY

BLACK

CALIBRATED ALUMINIUM TUBES LIGHT BLUE COLOUR

Code Item (] Color Wall Thickness Max Pressures Weight Lenght Pack.
mm - mm bar g/m m
90000 25 014 AZ 90000LB-25-14 14 LB 1.5 16 235 25m 10
90000 - 2.5 m (8 ft)
CALIBRATED ALUMINIUM TUBES GREY COLOUR
Code Item (] Color Wall Thickness Max Pressures Weight Lenght Pack.
mm |:| mm bar g/m m
90000 25 014 GR 90000GY-25-14 14 GR 1.5 16 235 25m 10
90000 - 2.5 m (8 ft)
CALIBRATED ALUMINIUM TUBES BLACK COLOUR
Code Iltem (] Color Wall Thickness Max Pressures Weight Lenght Pack.
mm - mm bar g/m m
90000 25 014 NE 90000BK-25-14 14 NE 1.5 16 235 25m 10

61



@ AIGNEP Infinity Series
SOOOON Code Part No. Tube A B L CH1 CH2

55000 00 019 50000N-14-3/8 14 3/8 7,5 325 21 9
STRAIGHT MALE 55000 00 020 50000N-14-1/2 14 12 9 31,5 21 10
50040" Code Part No. Tube  Tube L B

50040 00 N10  50040N-14 14 14 49 21,5
UNION
501 30N Code Part No. Tube L CH D

50130 00 NO8  50130N-14 14 32,5 19 21,5
UNION ELBOW

L
R

501 1 ON Code Part No. Tube A B L1 L2 CH1 CH2 D

5011100 N15 50110N-14-3/8 14 3/8 75 315 27 16 20 215

SWIVEL ELBOW 50111 00N16 50110N-14-1/2 14 1/2 9

315 295 16 21 215

62



g AIGNEP Infinity Series

50230" Code Part No. Tube L1 L2 CH D

UNION TEE

50230 00 NO8 50230N-14 14 65,5 32,5 19 21,5

8]

5021 ON Code Part No. Tube A B L1 L2 CH1  CH2 D

50211 00N15 50210N-14-3/8 14  3/8 75 625 295 16 20 215
SWIVEL BRANCH TEE 5021100 N16 50210N-14-1/2 14  1/2 9 625 32 16 21 21,5

90237 Code Item D Fwetm A B C E L1 L2 CH CH1 Pack.

90237 00007 90237-20-08 20 1/2 135 315 48 345 109 25 28 30 3
FEMALE OUTLET REDUCING TEE

C B
:;I 3 ﬁﬂm} QW’,IDW
o el o
I g

90663 NPTE Code Item ANNPTF) FNPTF) B E L1 L2 L3 Lmn Lmax Pack.
90663 00 001 90663-08-08 1/2 1/2 135 32 31 405 375 22 54 2

THREADED INCLINED DOUBLE OUTLET

63



M AIGNEP Infinity Series

90643 NPTE Code Item F1(NPTF) F2(NPTF) N° Lmax Lmin Pack.
90643 00 001  90643-08-08 1/2 1/2 2 60 35 1
2 WAY MANIFOLD

87
73
48,5

F1
F2

v
(e 1
R :[ @ £
NG
T
71 F2
9 o 6 4 5 NPTE Code Item F1(NPTF) F2(NPTF) N° Lmax Lmin Pack.
90645 00 001  90645-08-08 1/2 1/2 4 60 35 1
4 WAY MANIFOLD
87
73
48,5
- -
F1
mnl M
7y 1 .
efle e
SIS AR
&6 o
Fl = = _ tH
- - [
5061 o Code Part No. @D1 G L L1
50610 0031 Y3 RO 50610-14 14 16 42 19.5

POLYAMIDE PLUG

64



(JAIGNEP
80191

1/4" MALE MULTI-SOCKET

===

80192

1/4" FEMALE MULTI-SOCKET

==

80221

1/4" INDUSTRIAL MALE STUD

=

80222

1/4" INDUSTRIAL FEMALE STUD

80231

3/8" INDUSTRIAL MALE STUD

==

80232

3/8" INDUSTRIAL FEMALE STUD

5_.@.*

80621

1/4" INDUSTRIAL MALE SAFETY
COUPLER

Infinity Series

Code Item A NPTF 8 o 62 2 Code Item A NPTF
80191 00 001 80191-04 1/4 80622 00 001 80622-04 1/4
80191 00 002 80191-06 3/8 1/4" INDUSTRIAL FEMALE 80622 00 002 80622-06 3/8
80191 00 003 80191-08 1/2  SAFETY COUPLER 80622 00 003 80622-08 12

Code Item A NPTF 8 2 3 2 o Code Item A NPTF
80192 00 001 80192-04 1/4 82320 00 005 82320-08 12
80192 00 002 80192-06 3/8 1/2" SWIFT-FIT PLUG
8019200003  80192-08 12

Code Item A NPTF 82 600 Code Item A NPTF

80221000103 NB  80221-04 1/4 826000001 05NB 82600-08-08  1/2
80221000104NB  80221-06 3/8 WYE OUTLET
80221000105NB  80221-08 12
Code Item A NPTF 8 6 3 o o Code Item A NPTF
80222000103NB  80222-04 1/4 8630000003  86300-06-06  3/8
80222000104NB  80222-06 3/8 ::,i“xé-'i XFEMALEMINIBALL 8630000004  86300-08-08  1/2
80222000105NB  80222-08 12
Code Item A NPTF 8 6 3 1 o Code Item A NPTF
80231000104NB  80231-06 3/8 8631000003  86310-06-06  3/8
80231000105NB  80231-08 12 MALE X FEMALE MINI BALL 8631000004  86310-08-08  1/2
VALVE 8631000005  86310-12-12  3/4
Code Item A NPTF 8 2 2 8 o Code Item A NPTF
802320001 04NB  80232-06 3/8 822800001 AENB 82280-08-04  1/2
80232000105NB  80232-08 172 MALE X FEMALE REDUCER
ammn e
-muu“.
W.

Code Item A NPTF 80 1 9 4 Code Item A NPTF
80621 00 001 80621-04 1/4 80197 00 001 80194-06 3/8
80621 00 002 80621-06 3/8 3/8" MALE MULTI-SOCKET 80197 00 002 80194-08 12
80621 00 003 80621-08 12

=f==:

65



g AIGNEP Infinity Series
8 o 1 9 5 Code Item A NPTF N 1 o o Code Size
80198 00 001 80195-06 3/8 N100 104 231 100 FR+L1
3/8" FEMALE MULTI-SOCKET 80198 00 002 80195-08 1/2 N100 205 231 100 FR+L2
N100 309 231 100 FR+L3
Thread Filtration
1/2" 20 ym
1" 20 pm
Regulation Pack.
0+ 8 bar 1
601 91 Code Item A NPTF 0= 8bar 1
83191 00 001 60191-04 1/4 0= 8 bar 1
1/4" STAINLESS STEEL MALE
MULTI-SOCKET
. Code Item Bar
e MANO01/02 MANOT N2 020 000 0+4
i AT, MANOMETER BACK MANO1 N2 050 000 0+6
Eomma— CONNECTION MANOT N2 060 000 010
MANO1 N2 040 000 0+12
MANO2 N2 050 000 0+6
MANO2 N2 040 000 0+12
60 1 92 Code Item A NPTF
83192 00 001 60192-04 1/4
1/4" STAINLESS STEEL FEMALE
MULTI-SOCKET
8786 1 -90 Code Description
87000-04-04  Straight Male - 1/4 Tube x 1/4 Male
FITTING KIT 87000-06-06  Straight Male - 3/8 Tube x 3/8 Male
87000-08-08  Straight Male - 1/2 Tube x 1/2 Male
87110-04-04 Swivel Elbow - 1/4 Tube x 1/4 Male
87110-06-06 Swivel Elbow - 3/8 Tube x 3/8 Male
87110-08-08  Swivel Elbow - 1/2Tube x 1/2 Male
Code ltem A NPTF 87210-04-04  Swivel Branch Tee - 1/4Tube x 1/4 Male
6022 1 83221 AX 440300 60221-04 1/4 87210-06-06  Swivel Branch Tee - 3/8 Tube x 3/8 Male
1/4" STAINLESS STEEL 87210-08-08  Swivel Branch Tee - 1/2 Tube x 1/2 Male
INDUSTRIAL MALE STUD 88040-04 Union - 1/4 Tube
88040-06 Union - 3/8 Tube
88040-08 Union - 1/2 Tube
88130-04 Union Elbow - 1/4 Tube
88130-06 Union Elbow - 3/8 Tube
88130-08 Union Elbow - 1/2 Tube
88230-04 Union Tee - 1/4 Tube
88230-06 Union Tee - 3/8 Tube
60222 Code ltem A NPTE 88230-08 Union Tee - 1/2 Tube
83222 AX 44 03 00 60222-04 1/4
1/4" STAINLESS STEEL
INDUSTRIAL FEMALE STUD 5086 1 _ N 90 Code Description
50000N-6-1/800 SFStMI6émmThx 1/8
FITTING KIT 50000N-6-1/400 SFSEMI6mm Thx 1/4
50000N-8-1/800 SFStMI8mmTbx 1/8
50000N-8-1/400 SFStMI8mmThx 1/4
50000N-8-3/800 SFStMI8mmTh x 3/8
50000N-10-1/400 SESEMIETOmm Thx 1/4
50000N-10-3/800 SFStMIT0mmTh x 3/8
Code Size 50110N-6-1/800 Sl MIE 6mmTbx 1/8
N100 002 231 100 FR4LO 50110N-6-1/400  SFSvIMIEI6mmTbx 1/4
N100 003 231 100 FR+LO 50110N-8-1/400 SfSvIMIEI8mm Thx 1/4
50110N-8-3/800 SFSVIMIEI 8mm Tb x 3/8
Thread Filtration 50110N-10-3/800  SfSvlMIEl 10mm Thx3/8
1/8 20um 50110N-10-1/200 SESVIMIEL T0mmTh x 1/2
1/4 20um 50040N-600 Union 6mm T
X 50040N-800 Union 8mm Th
Regulation Pack. 50040N-1000 Union T0mm Tb
08 bar ! 50230N-600 Union T 6mm T
0+ 8 bar ! 50230N-800 Union T 8mm T
50230N-1000 Union T 10mm Th

66



(JAIGNEP

Infinity Series

@

E TECHNICAL CHARACTERISTICS

WB361

1
P2
i3
i 4

WB361 00 001

i Media

« Compressed Air
i . Water

i Component Parts and Materials

Technopolymer Body

Anodized aluminum Back Connection
Nickel-plated Brass Locking Nut
Stainless Steel AlSI 304 Nozzle

Code L
20

L1 B
8.287(210,5)

7.047 (179)

BLOW GUN WITH STAINLESS STEEL NOZZLE

n

Temperature

min max

-10°C(14F) +80°C(176F)

Pressure

12 bar (174 Psi)
(1.2 MPa)

433 NI/min @ 6 bar (87 Psi) - 533 NI/min @ 8 bar (116 Psi)

LAeq 89 dBA @ 6 bar (87 Psi)

LAeq 90 dBA @ 8 bar (116 Psi)

Force on handl

19,8 N @ 6 bar (87 Psi)

NPT 174 ||
0.866 (22) Blowing force 3,7 N @ 6 bar (87 Psi)
= 3 hr @ 6 bar (87 Psi)
gl  2003/10/CE Max85dBA
2 ax 3hr@8bar(116Ps)
% OSHA 1910.95 (b) Max 90 dB 8 hr (116 Psi)
WB 3 62 Code L L1 B
WB362 00 001 20 8.287(210,5) 7.303 (185,5)
SAFETY BLOW GUN WITH STAINLESS STEEL NOZZLE
min max
m Temperature -10°C(14F) +80°C(176 F)
Bar .
\‘\; Pressure 12 aag(,m,i)') i)

S

383 NI/min @ 6 bar (87 Psi) - 500 NI/min @ 8 bar (116 Psi)

4
N

LAeq 78 dBA @ 6 bar (87 Psi)

LAeq 84 dBA @ 8 bar (116 Psi)

Force on handle

19,8 N @ 6 bar (87 Psi)

NPTF 1/4

Blowing force

3,4 N @ 6 bar (87 Psi)

0.866 (22)

[llf e s s g

8 hr @ 6 bar (87 Psi)
2 1 E M BA
003/10/C ax85dBA @8 bar(116Ps)

'@ OSHA 1910.95 (b) Max 90 dB 8 hr
% OSHA 1910.242 (b) Max 2,1 bar (30 Psi) when blocked

67



